K/ dC kner ‘ ' Aufstellungsanweisung

OELLER et s

SR.U —QGUBG... 2/90 AWA 32-872
SRB...U — GU 8...

Schwenkrahmeneinbau in Gehdusesystem GU

Fitting of swing frame in GU system enclosure

Montage du chassis bivotant dans I'enveloppe GU, gamme systéme

Duo-Taptite-Senkschraube M 6 x 26 Duo-Taptite-Senkschraube M 6 x 22
Duo Taptite countersunk screw M6 x 26 Duo Taptite countersunk screw M6 x 22
Duo Taptite vis a téte conique M6 x 26 Duo Taptite vis a téte conique M6 x 22

Duo-Taptite-Senkschraube M6 x 16
Duo Taptite countersunk screw M6 x 16
Duo Taptite vis a téte conique M6 x 16

Duo-Taptite-Sechskantschraube M 6 x 12
Duo Taptite hexagon head screw M6 x 12
Duo Taptite vis & six pans M6 x 12

SR: Zylinderschraube M 8 x 30 und Kontaktscheibe
SR: hexagon socket head cap screw M 8 x 30 and contact washer
SR: vis a téte cylindrique a six pans creux M 8 x 30 et rondelle de contact

SRB: Zylinderschraube M 8 x 16 und Kontaktscheibe
SRB: hexagon socket head cap screw M8 x 16 and contact washer

SRB: vis & téte cylindrique & six pans creux M 8 x 16 et rondelle de contact FLS/Sch.
4 g p Printed in the Federal Republic of Germany (5/90)

For Klockner Moeller Sales and Support call KMparts.com (866) 595-9616




[ Sy

Duo-Taptite—Sechskants‘ohraube M6 x 10

Duo Taptite hexagon head screw M6 x 10
Duo Taptite vis a six pans M6 x 10

SR: hexagon socket head cap screw M8 x 30 and contact washer

SR: vis a téte cylindrique a six pans creux M 8 x 30 et rondelle de
contact

g

X SR: Zylinderschraube M 8 x 30 und Kontaktscheibe
)
|

SRB: Zylinderschraube M 8 x 16 und Kontaktscheibe
SRB: hexagon socket head cap screw M8 x 16 and contact washer

SRB: vis & téte cylindrique a six pans creux M 8 x 16 et rondelle de
contact

<

Duo-Taptite-Sechskantschraube M6 x 12
Duo Taptite hexagon head screw M6 x 12
Duo Taptite vis a six pans M6 x 12

SR: Sechskantschraube M6 x 25
SR: hexagon head screw M6 x 25
SR: vis & six pans M6 x 25

SRB: Sechskantschraube M6 x 12
SRB: hexagon head screw M6 x 12
SRB: vis a six pans M6 x 12

For Klockner Moeller Sales and Support call KMparts.com (866) 595-9616





